
0 2000 4000 6000 8000 1000010 7

10 6

10 5

10 4

10 3

10 2

10 1

100
Re

la
tiv

e 
Er

ro
r

bcsstk18
original
step=100
step=200
step=500
step=1000

0 2000 4000 6000 8000 1000010 7

10 6

10 5

10 4

10 3

10 2

10 1

100 consph
original
step=100
step=200
step=500
step=1000

0 2000 4000 6000 8000 10000
Iterations

10 7

10 6

10 5

10 4

10 3

10 2

10 1

100

Re
la

tiv
e 

Er
ro

r

inline_1
original
step=100
step=200
step=500
step=1000

0 2000 4000 6000 8000 10000
Iterations

10 7

10 6

10 5

10 4

10 3

10 2

10 1

100 ldoor
original
step=100
step=200
step=500
step=1000


